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10. What are the main problems of industrial

development in India ? What should be to
overcome them ?
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11. “Globalization is mixed blessings.” Elucidate this
statement.
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12. Examine critically the latest Industrial Policy of
India.
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13. Write short notes on any #wo of the following :
(@) FDI in India
(b) Objectives of Indian Planning
(¢) International Economic Environment
frafafea § & fofdl @ W dfva femfrt fafex .
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The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x2=14

(Very Short Answer Type Questions)

Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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1. @)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

Note —

Define ‘Business Environment’ in your own
words.

' SMEdTfae FTaeRo’ Y 3T vI=a) B g
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What is Fiscal Policy ?
TSTehrsg Hifq = % 2
What do you understand by Disinvestment ?
fafae ¥ o9 o wwea § 2
Explain disguised unemployment.
A (T=51) SRISF 1 G |
What do you mean by Globalization ?
ST W YR P ART ¥ ?
Define Inflation.
TE-FHITT ! TR I |
Define Industrial Sickness.
3Nt voran st aRefe s
Section-B 4x7=28
(Short Answer Type Questions)
Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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. Throw light on the failures of Indian Planning.
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. What are the objectives of fiscal policy ? Explain.

TR Aifd & F 3EIT B T 2 T I |

. Examine the internal reasons of industrial sickness.
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. Why inflation is rising in India ? Explain in brief.
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. What do you mean by Monetary Policy ? Explain

its objectives.
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. What would you suggest to eradicate the rural

unemployment ?
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. Explain the key characteristics of Foreign Trade

of India.
IRA & foRsht =R &t g fagoastt & v Fifs )

. Explain the external components of business

environment.
A AEol & dedt 37 &l THET |
Section-C
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 14 marks.
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